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Question # 1 of 10 ( Start time: 08:21:29 AM. 31 May 2021 )

Range of function \[f(x) = &N\ is...........

2
=
2
<
2
=
2
=
2
=
2
=
2
=
@
<
2
<

Select the correct option \\\\ .

Set of Real number {%’
O N\
&

Set of negative Real number.

2

O

Set of positive Real numbers

Set of integers
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Question # 2 of 10 { Start time: 08:21:51 AM, 31 May 2021 )

Composite Relation symbolically written as

N
Select the correct option (N

SoR={(ac)lachA. ceC.3beB (ab)eR and (b.c) €5 @j@
O @
° A,

None of the above LS ' 7
' )
\ Q
"'i .

SoR = {(a.c)la eA. ceC.3 b eB. (a.b) eR and (b.c) S}
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SoR ={(a.c)lach. ceC.3beb (ab)eR and (b.c) e 5]
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Question # 3 of 10 { Start time: 08:22:08 AM. 31 May 2021 )

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

If x=17 (mod 5) Which of the following integers are valid solution forx ?
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Select the cormrect option \&» O
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Question # 4 of 10 { Start time: 08:22-20 AM. 31 May 2021 )

Range of the relation {(0.1).(3.22).(30.34)}

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3
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1 Select the cormrect option @ O
: {0.3.90} _Q
| O A,
& | )
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0 \K
{1.22.34) AY
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:: Question # 5 of 10 { Start time: 08:22:33 AM. 31 May 2021 ) Total N

) Let A={0.1.2}and R = {{0.2). (1.7). (2.0)} be a relation on A. Then which of the following ordered pairs are needed to make it

) transitive?
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Question # 6 of 10 { Start time: 08:22-46 AM, 31 May 2021 )
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O peration of subtraction is a binary operation on the set of

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

A
3l Select the correct option ((\@
Y Integers %

Positive integers

O

Whole numbers

Matural numbers
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Question # 7 of 10 { Start time: 08:23:01 AM. 31 May 2021 )

2

Let 5 = R and define the "square" relation R = {{I, ;t,.r}|1.‘2 =y } . The square relation is an relation.

t3d hedd Reid Loid Reld Roid Roid Roid Roid Roid Roid Roid heid Leid Roid heid Rhoid heid Rei

7%

Select the correct option /&\
W
Equivalence relation \(?)
N
N

Mot equivalence relation \ \
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3

Question # 8 of 10 { Start time: 08:23:16 AM. 31 May 2021 )
The logic gate MOT is a uniary operation on {0.1}.

Select the comect option

Trus

False )
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Question # 9 of 10 { Start time: 08:23:31 AM, 31 May 2021 )
Let A= {1, 2}. then P(A)=

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the comrect option %

A
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3: Question # 10 of 10 ( Start time: 08:23:43 AM, 31 May 2021 ) Total

) If a relation R is reflexive, anti symmetric and transitive then which of the following is not true for the inverse relation.
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: Select the comrect option N
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) inverse relation will be transitive. \(%Q

)

) O
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: inverse relation will be anti symmetric. N

)
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:: inverse relation will be reflexive.
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MTH202:Quiz#1 Quiz 5k

Question # 1 of 10 { Start time: 08:25:39 AM. 31 May 2021

Let R be a binary relation on a set A R is anti-symmetrnic iff

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the cormrect option ' 7)
a, beAif (ab)eRand (b.a) eRthena=b A N

L
oV
a.beAif(ab)eRand (b.a) eRthena=b &

O

]

O

a, beAif(ab) eRand (b.a) eRthena=b

Mone of the above
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Quuestion # 2 of 10 ( Start time: 08:25:57 AM. 31 May 2021 )

“-"is & binary operation on the set of integers Z.

| hedd Roid hoid Reid Roid Roid Roid Reid Leid Roid Roid Roid heid heid Roid Lo

Select the comrect option ,X

True

False \
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Question # 3 of 10 { Start time: 08:26:15 AM. 31 May 2021 )

The inverse relation R™(-1) from B to A is defined as

&

\x‘{)

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

A\

Select the cormrect option
R*(-1)={(b.a) eB=A| (b.a) eR} @,
O QS/

R*(-1)= {(b.a) eB=A | (a.b) eR} \ k

R™(-1)={(b.a) & BxA| (a.b) R}

Mone of the above
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Question # 4 of 10 ( Start time: 08:26:28 AM. 31 May 2021 )

Which of the following is always true for the matrix representation of a symmetric relation?

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

S S S S ) S S S S ) S S S S S S S S S S S S Sy S ) wy wy wy wwy wy wwy wwy wwy ww ww ww ww ww ww w-w w-
-
i’
g
i

Select the comrect option A

Matrix is equal to its transpose.

®
\%

Matrx has always 0 in its diagonal entries @\) K
O A
AN

Matrix is singular

Matrix has always 1 in its diagonal entries
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Question # 5 of 10 { Start time: 08:26:49 AM. 31 May 2021 )

Let A={1.234} and let R and S be transitive binary relations on A defined as:
R={(1.2).(1.3). (2.2). (3.3). (4.2). (4.3)} and 5={{2.7). (2.4).(3.3)} Then
RusS={1.2).(1.3). (2.1). (22). (24). (3.3). (4.2). (4.3)}.

| hedd Roid hoid Reid Roid Roid Roid Reid Leid Roid Roid Roid heid heid Roid Lo

Select the correct option

R union 3 is transitive

O

R union S is not transitive “ _-H""-—-—_____
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MTH202:Quiz#1 Quiz Start Time: 08:25 4

Question # 6 of 10 ( Start time: 08:27-:04 AM. 31 May 2021 )

2

Let 5 = R and define the "square" relation R = {{1‘, ;t,.r}|1.‘2 = } . The square relation is an relation.

Select the comrect option /\\

A Q)
Mot equivalence relation @@)
Q

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Equivalence relation
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Question # 7 of 10 ( Start time: 08:27-18 AM, 31 May 2021 )

If x=-10(mod 15) Which of the following integers are valid solution for x ?

t3d hedd Reid Loid Reld Roid Roid Roid Roid Roid Roid Roid heid Leid Roid heid Rhoid heid Rei

%

Select the comrect option v &
O E \ﬁ?\y

\
O &
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Question # & of 10 { Start time: 08:27:33 AM. 31 May 2021 )

Let R be a binary relation on a set A, If R is anti symmetric then

| hedd Roid hoid Reid Roid Roid Roid Reid Leid Roid Roid Roid heid heid Roid Lo

Select the correct option

Inverse of R is symmetric

O

Inverse of R is anti symmetric \\
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Question # 9 of 10 { Start time: 08:27-47 AM. 31 May 2021 )
IFA={1,2 3lisasetand R ={{1.2).(2.2).(2. 1)}is arelationon A, R s

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the correct option
) A
] Nane of these ,\?>\
Y
© & (M
Y |
Transitive @
L J
® a\V
<&
Reflexive
O
Symmetric
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E79 PEZY PE2Y PE2Y PE2N PE2Y PE2N PE2N PE2N PN PE2N PE2N PE2N PSS PE2Y PESN PEN PE2Y PEXY PESN PEN PE3

| PE2N PE2Y PE2N PN PEXN PE2N PE2N PE2N P3
t3d hedd Reid Loid Reid Roid Roid Roid Lo

| PEPY PEIY PEIY PEPY PEIY PEIY PEIY PEFY PYIN PEIY PEIN PEIY PEIY PYIY PEIY PYIY PEFY PEIN PEIY PEIY PEIY DY |
$3d Reid Redd Roid | t3d Reid Redd Roid Roid Roid Reid Roid Roid Reid Roid Roid Roid heid Roid Reid o3

)
)
)
: e
) MTH202:Quiz#1 Quiz Start Time: 08:25 AM. 31 May 2|
)
)
: Question # 10 of 10 { Start ime: 08:28:02 AM, 321 May 2021 ) Total Mark
) Let A={0.1} andB={1}LetR and 5 be two binary relations on Cartesian product of A and B such that R={(0,1)} and 5 ={(1.1]}.
: Then R intersection 5 = :
)
)
)
)
)
)
: Select the correct option ‘/»
) 0.1 NN
: - &
' ° Nl
: QA
) 1.1 e
l O g
: ~
)
) empty
)
) L
)
)
: {(0.1)
)
. @)
)
)
)
)
-
r
) 3™ account
)
)
)
)
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VYV VUV VUV VYV VYV VVVVVVVVVVVVVVVVVVVVVVVYVVVVVVVVVVV VIV YV VYV VYV VYV VN
E2Y PEP PEPY PEZY PEZN PE2Y PEIN PEY PN PESN PESN PEY PEY PEPS PESN PEIN PEY PEIN PEIN PESN PEIN PEFY PEIY PESN PEN PSS PEFY PSS PESN PE DY

t3d Reid Redd Roid Reid Roid heid Roid Roid Reid Roid Rodd Roid Rheid Roid Reid Rodd Roid Redd Roid heid Reid Reid heid Roid Reid Roid heid Roid heid heid heid Roid Loid Reid hedd Roid Roid hoid heid Roid heid Roid heid heid Reid Roid Loid Reid Reid Roid hoid he
N S S S S S S S S S S S S S S S G A G ) G ) G A G ) ) G G ) G G G ) G G G ) ) G G G ) " > -~
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£ MTH202:Quiz#1 Q

)

)

() Question # 1 of 10 ( Start time: 03:18:22 PM. 31 May 2021 )

::: The domain of a relation R from A to B is symbolically written as:

)

)

)

)

)

)

)

[+)

) Select the correct option

ZZ: D(R) = {a belongs to A such that (a.b) belongs to R}

)

)

:::

P e 2

::: @

)

)

)

::: D(R) = {a belongs to B such that (a.b) belongs to R}

)

)

)

B, O

)

)

)

)

)

)

)

)

)

)

)

)

)

)

:::

R Y Y Y e ey
Aok Ao ook Ao Aok voodh Moo Aok Moeoh Aok B eooh Aok ootk Aok Aok Aeonh Aotk ook Aoeoh Aok Beveoh A0k ook Aotk Aotk ook Aok ook Aok Aeook Aol A0k ook A0 ook Aok Aok ook Aotk eooh Aoeoh Aok Atvooh Ao A0 eooh A0 Aok Aok Aok ook Aot A oooh Aok Aok ook A0 ook Aol A0k A0eeoh Aotk oooh Aok A ook Aok Aok Jevooh AR ook Aoveod A0k
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Question # 2 of 10 ( Start time: 03:18:49 PM, 31 May 2021 )

Which of the following is not a type of a Relation?

AN
WO

Select the cormrect option N

Reflexive @sﬁi{)

O :
S O
Symmetric Q\)

- I\

Transitive \ ‘1"""‘--._

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Pemutation
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| héid Roid heid Reid Roid ho

| he3
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MTH202:Quiz#1 Quiz Start Time: 03

Juestion # 3 of 10 ( Start time: 03:19:01 PM. 31 May 2021 )

LetA = {a, b} then P(A) =

t3d hedd Reid Loid Reld Roid Roid Roid Roid Roid Roid Roid heid Leid Roid heid Rhoid heid Rei

Select the correct option m
a, {a, b
o & (6 {a,b}}

{{a}, {b}}

{#,{a}, {b}, {a, b}}

{#,{a}, {b}}

O
P/
e
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Question # 4 of 10 { Start time: 03:19:18 PM. 31 May 2021 )

Let A = {4.5.6} then The relation R={{4.5).(5.4).(6.5).(5.6)} is .

A

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the comrect option

N

,\(‘

O

R is Reflexive

Q
SV

QR

O

R is Transitive

N
\

H is Symmetric

R is Anti symmetric
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E79 PEZY PE2Y PE2Y PE2N PE2Y PE2N PE2N PE2N PN PE2N PE2N PE2N PSS PE2Y PESN PEN PE2Y PEXY PESN PEN PE3

| PE2N PE2Y PE2N PN PEXN PE2N PE2N PE2N P3
t3d hedd Reid Loid Reid Roid Roid Roid Lo

| PEPY PEIY PEIY PEPY PEIY PEIY PEIY PEFY PYIN PEIY PEIN PEIY PEIY PYIY PEIY PYIY PEFY PEIN PEIY PEIY PEIY DY |
t3d Reid Reid Roid Roid Roid Roid Roid Roid Roid Roid heid Roid Reid Roid Roid Roid Roid heid Roid Reid hes

t3d heid Reid hoid Reid Roid Leid Roid Roid Loid heid heid Roid Roid Roid Leid Roid Roid Roid heid hes
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Question # 5 of 10 ( Start time: 03:19:31 PM., 31 May 2021 )

R ={(1.0).(1.2).(3.1).(3.2)}
S ={{0.b).(1.a).{2.b}

Composite of Rand S =

LetA={123landB=1{0.1.2}and C = {a.b}

Select the comect option

{(1.a).(1.b).(2.).(3.b)}

O

O

oA\ —
{(1.a).(2.8).(3.a)} O L 4

1(1.b).(3.a).(3.b)}

1(1.6).(1.8).(3.3).(3.b)}
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t3d Reid Redd Roid Roid Roid Reid Roid Roid Reid Roid Reld Roid Reid Roid Roid Redd Roid heid Roid Reid Roid hoid Reid Roid heid Roid heid Roid Roid Loid heid Redd Roid Roid hoid heid Reld Rid Roid Loid heid Roid Roid Loid Reid Loid Roid hoid Reid heid hes
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MTH202:Quiz#1 Quiz Start Time: |

Question # 6 of 10 ( Start time: 03:19:45 PM. 31 May 2021 )

Let R be the universal relation on a set A then which one of the following statement about R is true?

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

S S S S ) S S S S ) S S S S S S S S S S S S Sy S ) wy wy wy wwy wy wwy wwy wwy ww ww ww ww ww ww w-w w-
o
a
4l

Select the cormrect option \
(

R is reflexive, symmetric and transitive.

[ 4
N

H is not symmetric @ - .
& & <

R is not transitive

R is not reflexive
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MTH202:Quiz#1 Quiz Start Time: 03

Question # 7 of 10 ( Start time: 03:20:00 PM. 31 May 2021 )

If A contains 3 elements and B contains 2 elements, then number of subsets of Ax B are .

\(@
O
Select the correct option &\¥ O

12 \\

O o
&

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

O

H \
: \

32

-
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Question # 8 of 10 { Start time: 03:20:13 PM, 31 May 2021 )

Let A ={1.2.3.4} and define the following relations on A Then
R={(1.3). (1.4). (23). (2.4). (3.7). 3.4} 15

t3d hedd Reid Loid Reld Roid Roid Roid Roid Roid Roid Roid heid Leid Roid heid Rhoid heid Rei

. >
Select the correct option )\E{)&

Ris reflexive

e 3

R is both reflexive and irreflexive )\

O

R is irreflexive N ‘\

Mone of the above

£,
1) %
=
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MTH202:Quiz#1 Quiz Start Time:

Question # 9 of 10 { Start time: 03:20:25 PM. 31 May 2021 )

The function defined from Z to Z as f(z) = m is not well defined because........

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

Select the correct option m
3 Qs
] Each input has two outputs. A \
A
WV =
Function is not defined at x=-2 and x=2 A
LA
Function gives imaginary values for x< 0 “ T~

Function is defined at x=2 but not defined at x=-2
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Question # 10 of 10 ( Start time: 03:20:33 PM. 31 May 2021)

Let X ={2.4.5} and Y={1.2.4 }and R be a relation from X to Y defined by
R ={{2.4). (4.7}, (a.2)}. For what value of 'a " the relgtion R is a function ?

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Le3

M@
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